The CES College of Arts and Commerce Cuncolim Salcete Gon
FYBCOM I Semester End Examination, October/November 2018
Commercial Arithmatic
Marks: 80 Duration: 2hrs
Date: 25/10/2018 Time: 10.00 to 12.00 noon

Instructions: 1) Attempt all questions. :
2) Figure to the right indicates full marks.
3) Use of non - programmable calculator is allowed.
4) Log tables and graph papers will be supplied on request,

Q.1: Answer the following: (4X5~20)
a) Construct the truth table for (pv@) A =q = (~p=q)
b) Find the simple interest on Rs. 580/~ at the rate of 80% per annum for 220 days,

¢) Find the number of different words containing all the letters of the word ‘logarithm' such that all the
vowels arc together,

d) Find the general term of the sequence 2, 7,12, 17, - - -

2 x 1
¢) Findxif{1 2 1|=2
4 1 =1
OR '
Q.I Answer the following: (4X5=20)

v) Verify if (pv~q) =(~pe+q) Is a contradiction.

W) Find the principal and the amount to ear Rs.150/- Simple interest in 6 years at rate of 5% per
annum.

x) How many ways can the letters of the word *KEYBOARD' be arranged 50 as 1o begin with a vowel
and end with a constant.

¥) Sum or 3 terms in A.P. is 15 and their produet is 80, Find the 3 numbers,

1 2 -1
z) Find the value of |2 0 1
1 2 3
Q.2: Answer the following: (4X5=20)

a) Calculate the compound interest on Rs.100 at 42 p.a. Compounded for 3 years. Find the amount ale
b) Find the point of intersection of lines 2x + 2y = 7 and 4x - Sp=13.
) IFA=(1,2,4.5,7); B=(2,3.4,6,7,8); C=2(1,3,4,7.9}. Find (1) (AUB) NC and (2) (ANB) \ C.
d) Find the sum of all natural numbers from 100 and 300 which are exactly divisible by 3.
¢) 3 digit number is to be formed by using the digits 0, 1, 2, 3, 4 and 5. In how many ways you can do
this?

OR

Q.11 Answer the following: (4X5=20)

v) How much will Rs. 2500/- amount to in 2 years at compound interest if rates for the successive years

are 4% and 5% per annum?

w) By using determinants, solve; 3x +y = 4 and X=y=§
X IFX=(1,2,34}; A=(1,2); B=(2,3.4}. Verity De Morgan’s Laws.
Y)Find 10+ 14+ 18 + - - - ton terms.
z) 4 digit number more than 2,000 is to be formed by using the digits 1, 2, 3, 4,5,6and 7, In how many
ways can this be done?
Q.3: Answer the following:

a) The poem is readable if the print is clear. The

Test its validity.

b) Find the vnlucof.r.ynnd:ier—-y-{- 3z=4;x+y+z=2and3r ty-z=2,

¢) If A and B are two sets such that A has 40 elements, AUB has 60 elements and ANB has 10 elements
find the number of elements in B. . ‘

d) Mohan invests Rs. 10,000/~ in the first month and increases his installment by Rs. 1000/-
subsequent month. What will be his total investment at the end of 2 years?

: (4X5=20)
print is not clear. Therefore the poem is not readable,

every
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any ways can this be
¢) A committee of 5 persons is to be formed from 4 males and 3 females: ot B )
done if the committee is to include atleast 2 females?
OR (4X5=20)
Q.11 Answer the following:
v) Test the validity of an argument pvq; ~p -0 Ly=17,20-3y= k
w) Find kif the following equations are consistant: x +y =3 5k % J ‘é;ithmatic’}r verify
x) If A={x/x is a letter of word ‘mathematics’}; B={ w/xisa letier of /0"
if(I)AUB=(A—B)UBand(?.)A—B-'AﬂB h tha
) A sum of Rs. 72,800/~ is to be repaid in 6 monthly installments such

previous installment. Find the first and the |ast installment. of which two are taught by the
z) Exam time table is to be set for FYBCOM class having seven pap?r?t by the same teacher are nr;
same teacher. In how many ways can you do this if papers taught 0 '

consecutive?

t each installment is 3 times

(4X5=20)
Q.4: Answer the following:

a) Find 4 + 44 + 444 + - - - up to n terms.

b) Find compounded interest on Rs. 1000/ for 2 years 2t 8% p-a. .CO 5
(Given: log 10000 = 4; log] 51 = 2.1790, log 150 =2.1761; anilog 4.06%6 = A%

¢) How many arrangements can be made with letters of the word ‘INDEPENDENCE

d) Ashok purchased one six years National Saving Certificate for Rs.1000/-. After. 6 years he got
Rs.2015/-. Find the rate of interest if the interest is compounded half yearly. (Given (2.015)"=

mpounded monthly.

1.06012)
-t 3p=["1 2 i h that 2A + 5B —2x=0
e)IfA [2 4] B [ 5 _ 1], find the matrix x, such tha
OR
Q.IV Answer the following: (4X5=20)
v) The product of the first and second term of a G.P. is 256 and that of second and third term is 16. Find
the 7" Term.

w) How much will Rs. 50,000/- amount to in 2 years at compound interest_if the rates for successive
years are 4% and 5% per year?

x) There are 5 questions in Part A and 4 in Part B of a question paper. In how many ways can a student
answer 6 questions if he has to choose at least 2 from each part?

y) Rs. 200/- is invested at the end of each month in an account paying interest 6% per year compounded
monthly. What is the amount of this annuity after 10" Payment? (Given that (1.005)"9=1.0511) ¢

2 3 1
;:)[fA=[jr g g]A=[5 4 3],ﬁndAB.
21 1
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